H & 0l & AHS B Ml A

H WEIEEX2 0

EA: DISAS
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
WRIIESA2 1t 59,111,602 52,284,523 6,827,079
= 18,206, 104
g 619, 165
J| 2,358,742
& 20,320,647
Al 17,606,944
Aol AIBIEN B2 sSSEIHE(AlBIEX/EE - JIEY 5,797,238 5,102,528 694,710
o)
= 1,272,405
J| 2,015,865
== 758,190
Al 1,750,778
Ol ARZXICH (A QIAEFA 3,313,596 3,191,034 122,562
= 1,037,713
J| 775,284
== 353,917
Al 1,146,682
A Zd DA wEXgeEZs)d 29 4,557 3,632 925
J| 3,190
& 411
Al 956
307 2120l ™ 4 557 3,632 925
J| 3,190
& 411
Al 956
11 AISIEXAIEEX 4 557 3,632 925
J| 3,190
< 411
Al 956
S0 A 4,557 3,632 925
J| 3,190
< 411
Al 956
OJEZS Dol A RnEXSEZ N 29
4,557,000 4,557
J| 3,190
< 411
Al 956
= A2l K 8,450 8,450 0
307 2Iz2to|™ 8,450 8,450 0
11 AISIEXAIEEX 8,450 8,450 0
=0 A 8,450 8,450 0
OJIE=4 AMglEelY X2 (Lolikt 3=
T27) 8,450,000& 8,450




EA: DISAS

B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)

Eh9l: ol@ ARZIXID) 014 ol EA (e @2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
A Z4 oA ESAIE 29 K& 219,304 204,606 14,698

J| 153,514
& 32,895
Al 32,895
307 2120l ™ 219,304 204,606 14,698
J| 153,514
== 32,895
Al 32,895
10 AISISAIAIEEHE2YHIEX 219,304 204,606 14,698
J| 153,514
& 32,895
Al 32,895
S0 A 219,304 204,606 14,698
J| 153,514
& 32,895
Al 32,895
OJHEZ4 Mok ESAIE 29 K&
219,304,000& 219,304
J| 153,514
& 32,895
Al 32,895
IIEZSE Il E5AI8 29 XK (KHAIZFIH 9,812 9,547 265
07 212H01 ™ 9,812 9,547 265
10 AISISAIAIEEHES2IHIEX 9,812 9,547 265
S0 A 9,812 9,547 265
OJIE=ZA T|ol A ESAIE 29H(HE
£CH) BRI 9,812,000 9,812
IIAZS QoA ESAIE 29 XNOIsEY) 11,100 10,500 600
J| 5,550
° 2,775
Al 2,775
402 CIZHRE0| A 11,100 10,500 600
J| 5,550
& 2,775
Al 2,775
02 SIZIXIEAIHE (0| THL) 11,100 10,500 600
J| 5,550
o= 2,775
Al 2,775
=0 A 11,100 10,500 600
J| 5,550
< 2,775
Al 2,775




2A: WRIEEX2 0
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
S - B S(SH) - NISAY - BAS S SR HIDS2
S EEEN ENEENCIEE R
Jlsgd) 11,100,000& 11,100
J| 5,550
& 2,775
Al 2,775
IIEZS TlohA ESAd 29 X2 (A H]) 15,534 10,000 5,534
J| 15,534
301 Let2HZ 15,534 10,000 5,534
| 15,534
01 A BEAGS(ZRNEZE) 15,534 10,000 5,534
J| 15,534
201 & 15,534 10,000 5,534
J| 15,534
OJIE = TIoHA ESAIE Bz A
a] 15,534,000& 15,534
| 15,534
IIEES oA 2SAE 29 N (AHE])(TH=E 12,000 12,000 0
o)

301 LetEdZ 12,000 12,000 0
2 A 2BEE 62 (HLAHS, KLHA) 12,000 0 12,000
20i & 12,000 0 12,000

OJtd =2 LI BESAIE B2 M
]l 12,000,000& 12,000
IS ZES TR EsAE 29 X3 (HGgE&]) 3,252 2,160 1,002
| 2,276
& 488
Al 488
307 2IZ2t0|A 3,252 2,160 1,002
| 2,276
= 488
Al 488
11 Al SXAEE X 3,252 2,160 1,002
| 2,276
& 488
Al 488
204 & 3,252 2,160 1,002
| 2,276
& 488
Al 488
OJEES Tk BESAE 29 KIA(
MASZEI) 3,252,000& 3,252
J| 2,276
& 488
Al 488
NE=S T 2ESAIE ElA Al AIEXIZ X3 10,000 5,000 5,000




2AM: WKRIEXS
Bu: 089 AIBIEGH OIS SRS (MEI=N/2S - HSW0IA)
Chel: 012 AIAXICH 014 QIEHAl (crel:xg
SN - ZH - S(3H) - NRAY - BAS (ggj) @%%gm;ﬁ% BlRE2
J| 10,000
307 QIZ2t0I ™ 10,000 5,000 5,000
J| 10,000
11 ASIZEXIAIEE X 10,000 5,000 5,000
J| 10,000
Off & 10,000 5,000 5,000
J| 10,000
OINFEATHK BEAA S Al K2
NG DNEE] 10,000,000 10,000
J| 10,000
JIEZS LIchAN X232 T2 )8 & o|ZH| XI& 28,900 28,900 0
J| 20,230
o= 4,335
Al 4,335
307 QIZt0| ™ 28,900 28,900 0
J| 20,230
T 4,335
Al 4,335
11 AIZISXIAIEEX 28,900 28,900 0
J| 20,230
== 4,335
Al 4,335
=0l & 28,900 28,900 0
J| 20,230
o= 4,335
Al 4,335
OJr8 =4 TlohAr 2l=ZHl XI&
2,000,000& 2,000
J| 1,400
o= 300
Al 300
OJIEZS ToHA X2l T2 X
& 26,900,000& 26,900
J| 18,830
= 4,035
Al 4,035
I ZEME AN 2HXR 172,792 164,988 7,804
J| 86,395
o= 43,199
Al 43,198
307 CIZ2t0| ™ 172,792 164,988 7,804
J| 86,395
= 43,199
Al 43,198




2A: WRIEEX2 0
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
SRl oI ARIRICH (e olMerat (e
S - B S(SH) - NISAY - BAS S SR HIDS2
10 ALSISXAIEHE2GHIEX 172,792 164,988 7,804
| 86,395
& 43,199
Al 43,198
20/ & 172,792 164,988 7,804
| 86,395
== 43,199
Al 43,198
OE=gagas 2912
172,792,000 172,792
| 86,395
& 43,199
Al 43,198
IS ZH ML 2IXA(KHIFI 7,761 14,080 A6,319
307 QIZ2tol ™ 7,761 7,035 726
10 AISISTAIEHE2GHIER 7,761 7,035 726
204 & 7,761 7,035 726
OJIZE8AEA 2YH(YE YY) BX
A& 7,761
IEHH 29 510,060 500,260 9,800
J| 255,030
& 51,006
Al 204,024
307 QIZ2tol ™ 510,060 500,260 9,800
| 255,030
& 51,006
Al 204,024
10 Al = XA EEHE2IHIE X 504,120 494,320 9,800
| 252,060
& 50,412
Al 201,648
201 & 504,120 494,320 9,800
J| 252,060
& 50,412
Al 201,648
OJIFHaENEIH 42,420,000& 42,420
| 21,210
& 4,242
Al 16,968
OJI=HH SEMEIA 23
419,100,000& 419,100
J| 209,550
& 41,910
Al 167,640




EA: DISAS
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
OUIRSE As22t 29
42 .600,000& 42,600
J| 21,300
& 4,260
Al 17,040
11 AISIEXAISEEX 5,940 5,940 0
J| 2,970
& 594
Al 2,376
=01 A 5,940 5,940 0
J| 2,970
o= 594
Al 2,376
O0Pb= Z2E0I1F0H4A OIS A
5,940,000& 5,940
J| 2,970
& 594
Al 2,376
Z2E0|8IX} AS HIEZ ALY 3,585 4,000 N415
== 717
Al 2,868
307 QI2H0| & 3,585 4,000 A415
& 717
Al 2,868
11 AISIEXAIEEX 3,585 4,000 N415
< 717
Al 2,868
=0 A 3,585 4,000 A415
& 717
Al 2,868
OZE0|0X &5 HES AMS
717,000 *5J1 3,585
& 77
Al 2,868
2s0ILIsH 29 110,388 109,692 696
J| 55,194
& 27,597
Al 27,597
307 212t0| ™ 110,388 109,692 696
J| 55,194
& 27,597
Al 27,597
11 AISIEXAIEEX 110,388 109,692 696
J| 55,194




EA: DISAS
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
CH9l: oA AIXICH 014 Qlatal (&
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
o= 27,597
Al 27,597
S0 A 110,388 109,692 696
J| 55,194
& 27,597
Al 27,597
OZ2&s0tLsH 29
55,194,000 & *2H A~ 110,388
J| 55,194
o= 27,597
Al 27,597
CI23HE XI& 84,012 37,140 46,872
201 LBt A 840 840 0
01 AF222telb] 840 840 0
=20 A 840 840 0
O2=01x01 & CIE23IIE N E 23
Bl =G 70,0003 x6H x23| 840
307 2120l 83,172 36,300 46,872
10 AISISAIAIEEHE2IHIEX 10,500 0 10,500
=20 A 10,500 0 10,500
OJIEHEH AREHEINE X (PC)
1,500, 000& 74 10,500
11 AISIEXIAISEEX 72,672 36,300 36,372
=0 A 72,672 36,300 36,372
OZ&E0|01X MBS FHNSKS
625,000 x8H 5,000
Otte MHEs FsEz )l 2R
15,000,000 15,000
OUIshts 2282 XA
22,000,000& 22,000
OURsIE [t er28sAl A
10,800,000 10,800
OU=RSIIE XNYu2 A=K
19,872,000 19,872
CI23tEs YE WA TAF HSMA 3,684 3,684 0
o= 737
Al 2,947
307 21z2to|™ 3,684 3,684 0
o= 737
Al 2,947
10 AISISAIAIEHES2IHIEX 3,684 3,684 0
& 737
Al 2,947
=0 A 3,684 3,684 0
== 737
Al 2,947




EA: DISAS
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OURstE UREXTAF M
1,228,000 x3H 3,684
o= 737
Al 2,947
CI23IIEXE 82u=s K& 7,310 3,355 3,955
& 1,462
Al 5,848
307 2120l ™ 7,310 3,355 3,955
= 1,462
Al 5,848
11 AISIEXIAISEX 7,310 3,355 3,955
& 1,462
Al 5,848
S0 A 7,310 3,355 3,955
& 1,462
Al 5,848
OUSSIIE e2uns NE
456,8753 x16Y 7,310
& 1,462
Al 5,848
CI23t 03 Xs 28wl 20,000 0 20,000
o= 4,000
Al 16,000
307 QI2H0| & 20,000 0 20,000
& 4,000
Al 16,000
11 AISIEXAIEEX 20,000 0 20,000
== 4,000
Al 16,000
=0 A 20,000 0 20,000
& 4,000
Al 16,000
OUERs OISXs o2 nal
20,000,000& 20,000
& 4,000
Al 16,000
CI23 ESAIH(EE 147,401 144,622 2,779
J| 73,700
o= 14,741
Al 58,960
307 21z2t0|™ 147,401 144,622 2,779
J| 73,700
& 14,741
Al 58,960




25 WRIIEXJ
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
M- B2 - 22(31) - HSAY - Ba=S S SR b=
11 AISISXIAIEE X 147,401 144,622 2,779
J| 73,700
& 14,741
Al 58,960
S0 &t 147,401 144,622 2,779
J| 73,700
= 14,741
Al 58,960
OURs SN (S8 147,401
0HE0IDIT HEASAIR
20,000,000& 20,000
J| 10,000
= 2,000
Al 8,000
0 ZE=0(2I4 SHIAMEIA XA
32,813,000& 32,813
J| 16,406
= 3,282
Al 13,125
o ChE23IIE MEA0EY K&
39,344,000& 39,344
J| 19,672
= 3,934
Al 15,738
o NMHYE L NHME 5 UEUSsA
HIA K& 55,244,000& 55,244
J| 27,622
& 5,525
Al 22,097
MNIEXAE 29 FE(HHIIEF20H) 69,000 66,600 2,400
& 13,800
Al 55,200
307 QIZ2t0| ™ 69,000 66,600 2,400
& 13,800
Al 55,200
10 AL SXAEEE2IHIEX 69,000 66,600 2,400
& 13,800
Al 55,200
S0 &t 69,000 66,600 2,400
& 13,800
Al 55,200
OAMBIEXAIE SAA SXI=E K&
69,000,000& 69,000
= 13,800
Al 55,200




25 WRIIEXJ
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
CH9l: oA AIXICH 014 Qlatal (&
SA - B OR(B) - NRAY - BaS S SR RS2
SAZATGHA 2= H|, 2t K& 5,000 4,500 500
J| 3,500
& 750
Al 750
307 2IZ2t0|A 5,000 4,500 500
J| 3,500
& 750
Al 750
11 AISISXIAIEE X 5,000 4,500 500
J| 3,500
== 750
Al 750
=0 A 5,000 4,500 500
J| 3,500
& 750
Al 750
O&=Z= Tlol A 2l=d|,2-8| X
5,000,000 5,000
J| 3,500
== 750
Al 750
H4E" - ZJjed=s AYA 2GR 182,342 176,028 6,314
J| 91,171
& 45,586
Al 45,585
307 QIZ2t0| ™ 182,342 176,028 6,314
J| 91,171
= 45,586
Al 45,585
10 AISISXAEEE2IHIE X 182,342 176,028 6,314
J| 91,171
& 45,586
Al 45,585
=0 A 182,342 176,028 6,314
J| 91,171
= 45,586
Al 45,585
O&8=Ze - o=z 4L 2GXA
182,342,000& 182,342
J| 91,171
& 45,586
Al 45,585
HE - 8= AeEA 2SR (XHZFOL 25,084 6,716 18,368
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25 WRIIEXJ
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
S - EHY - BR(31) - NSAY - BaS S SR b=
= 560,000
= 48,000
Al 192,000
01 Al BEH4FZ2(2DEXTHS) 800,000 800,000 0
= 560,000
== 48,000
Al 192,000
20 & 800,000 800,000 0
= 560,000
& 48,000
Al 192,000
OololEE MHIA HEX2
800,000,000& 800,000
= 560,000
= 48,000
Al 192,000
307 2I2t01H 682,447 615,000 67,447
= 477,713
& 40,947
Al 163,787
11 AISISXIAIEE X 682,447 615,000 67,447
= 477,713
& 40,947
Al 163,787
S0 &t 682,447 615,000 67,447
= 477,713
= 40,47
Al 163,787
Oo0t0lE8 MElA 29 RIA
682,447,000 682,447
= 477,713
& 40,947
Al 163,787
HEHASTAE 2F XA (E4) 17,000 17,000 0
== 3,400
Al 13,600
307 BIZHOIA 17,000 17,000 0
& 3,400
Al 13,600
10 AlRI=S XA EBHE2IHIEX 17,000 17,000 0
== 3,400
Al 13,600
=0 & 17,000 17,000 0
& 3,400




EA: DISAS
B 0140 ABIEO 29 SN (ASIZT/PS - IHEL0A)
chel: ol AIZIXICH Oi4 ol sl (cr9l: &g
A - B3 S9I(31H) - HISAY - BAS (ggj) @%%’Lﬁ‘” HDE2
Al 13,600
OCISAASAAL 2% X2 (2| »
LHekH]) 17,000, 000& 17,000
& 3,400
Al 13,600
SHAUASTAIE (MO ZS ML) SR 10,000 10,000 0
== 2,000
Al 8,000
307 21z2to|™ 10,000 10,000 0
o= 2,000
Al 8,000
10 AISISAIAIEHE2YHIEX 10,000 10,000 0
= 2,000
Al 8,000
=0 & 10,000 10,000 0
== 2,000
Al 8,000
OWHEAUASEANE 29 N (NE2Y
H 2 E2H| S) 10,000,000 10,000
< 2,000
Al 8,000
HAUASKAIE SAIAF HL2MA 71,057 67,280 3,777
& 14,211
Al 56,846
307 2120l ™ 71,057 67,280 3,777
< 14,211
Al 56,846
10 AISISAIAIEEHE2IHIEX 71,057 67,280 3,777
& 14,211
Al 56,846
=0 A 71,057 67,280 3,777
° 14,211
Al 56,846
OUAJAASTAIE SAX HSLME (AT
28 2 gZxZ2) 71,057,000 71,057
= 14,211
Al 56,846
HAZRISIEAl =MD 2= 35,600 48,154 N 12,554
201 LBt AY| 27,000 18,020 8,980
01 AF22telb] 26,000 17,020 8,980
S0 A 26,000 17,020 8,980
OWEEZ3HEA otalATEl AR
80,0002 *1007H 8,000
O HotAl 20IEdHiE 2HH]|
165,000& 2 A x 12& 3,960




2A: WRIEEX2 0
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
SRl oI ARIRICH (e olMerat (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
OWAZISEAl HESZ2H & AlR2t2|d]
1,000,000 *2IH 2~ 2,000
ONAZRSFEZAl AIY MZ0F 28
100,000 =2 *53| 1,000
ONAZRSFZAl AIIEHS 23|
1,500,000& 1,500
OWAZRSTAl 2F AtR2teld]
1,000,000& 1,000
OWARIGEZAl MEWNF 2,000,000& 2,000
OWHEZISEAl E223 HE
5,000,000& 5,000
OUWAZRSTAI LM 2IA S
70,0002 * 11523 1,540
02 323l 1,000 1,000
S0 & 1,000 1,000
OOi& oAl DoleiiE 2R
1,000,000& 1,000
301 detEEZ 5,240 14,134 A\8,894
14 JIEt2 A3 5,240 3,684 1,556
S0/ & 5,240 3,684 1,556
OWAXIEX 2 &4 optulol 29 896
o Z A= (12) 370,000& *23] 740
o2 78,0002 %23 156
OWAESTAl AIZIENHS SLIHE &
=l 20,0002 *30H *53] 3,000
OWAESETAl ASIENH I8 L 2¢
E3 2A" L A0=2(13) 1,344
o ZAI=E(12) 370,000& *33] 1,110
gami= 78,0002 *33] 234
405 Ko SHI 3,360 10,000 26,640
01 T 2SEFH S| 3,360 10,000 A6,640
=0 A 3,360 10,000 26,640
OWHZSEZAl HESZH =48 28 7¢
]l 3,360
022 E HIOIZ 220,000 *4IH+20H 2~ 1,760
039& oIkt 80,0002 x 10K 200 2 1,600
g=Z=alol |21t 2132 X& 2,400 2,400 0
& 480
Al 1,920
307 QIZ2tol ™ 2,400 2,400 0
& 480
Al 1,920
11 Al SXAMEEXR 2,400 2,400 0
& 480
Al 1,920
S0j &t 2,400 2,400 0
& 480




EA: DISAS
B GlAo) ABIRC SIS SAML(ABI=R/2S - HSL0IA)
Eh9l: ol@ ARZIXID) 014 ol EA (e @2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 1,920
Od=Z=1Iol /2101 23X
2,400,000 2,400
& 480
Al 1,920
-l AAA el SkAt 807,265 494,934 312,331
= 234,692
& 224,250
Al 348,323
BRAUSsENNNE 25 K& 10,980 0 10,980
& 2,196
Al 8,784
201 LEr2AH| 10,980 0 10,980
& 2,196
Al 8,784
01 AtR2teld| 10,980 0 10,980
o= 2,196
Al 8,784
S0 A 10,980 0 10,980
& 2,196
Al 8,784
OXRI2s=R0E 2= X
10,980, 000& 10,980
& 2,196
Al 8,784
JEHEHL PAES KA 243,600 422,000 A 178,400
== 138,600
Al 105,000
101 @124H] 28,600 22,000 6,600
& 28,600
4 J1I2ZtHI22sSEx 28,600 22,000 6,600
& 28,600
S0 A 28,600 22,000 6,600
< 28,600
OZEHEds HAgEs Mgold 28,600
o=0 2,210,000&*11& 24,310
o= 24,310
o =4l 60,0002 *x11& 660
== 660
o WEH| 30,0008 x11& 330
< 330
4B E (21,201, D& AT
3,300,000& 3,300
& 3,300




EA: DISAS
B GlA0) ABIRC SIS SAML(ABI=/2S - HSL0IA)
Cigl: O8] AEE MOl BHA (e e
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
201 LBt AY| 5,000 10,000 25,000
o= 5,000
01 AtR2teld| 5,000 10,000 A5,000
& 5,000
=01 A 5,000 10,000 /5,000
= 5,000
OArR2e|dH] & E5H| 5,000,000 5,000
& 5,000
301 LBIEBX = 210,000 390,000 A 180,000
& 105,000
Al 105,000
14 J|EI2 A= 210,000 390,000 A 180,000
== 105,000
Al 105,000
=0 A 210,000 390,000 180,000
& 105,000
Al 105,000
ORALROAE FRYE X
500,000 x70H x6& 210,000
& 105,000
Al 105,000
O0I=E20| MRMA 22,680 0 22,680
== 4,536
Al 18,144
307 2I1z2to|™ 22,680 0 22,680
o= 4,536
Al 18,144
10 AISISAIAEHE2YHIEX 22,680 0 22,680
== 4,536
Al 18,144
=0l A 22,680 0 22,680
== 4,536
Al 18,144
O0otol=E0| HLMHA 22,680,000& 22,680
& 4,536
Al 18,144
A HSFT2E J|ESHA} 12,000 12,000 0
307 21201 ™ 12,000 12,000 0
04 SIZISHAIAIH E R 12,000 12,000 0
S0 A 12,000 12,000 0
Oxx d48-SUS 12,000,000& 12,000
M LaIHEH 29 X3 429,784 0 429,784
= 234,692




25 WRIIEXJ
B GlA0) ABIRC SIS SAML(ABI=/2S - HSL0IA)
Cigl: O8] AEE MOl BHA (e e
S - EHY - BR(31) - NSAY - BaS S SR b=
== 69,018
Al 126,074
307 2I2t01A 329,784 0 329,784
= 234,692
& 19,018
Al 76,074
11 AISISXIAIE 2 X 329,784 0 329,784
= 234,692
& 19,018
Al 76,074
S0 &t 329,784 0 320,784
= 234,692
= 19,018
Al 76,074
OMEH Lol 3,800,000 x20H 76,000
= 60,800
& 3,040
Al 12,160
O M=za|HEH 23|
159,784,000 159,784
= 79,892
= 15,978
Al 63,914
OXNg=duE T2 ) 94,000,000 94,000
= 94,000
402 SIZtXH=01A 100,000 0 100,000
= 50,000
Al 50,000
02 DIZEEAIE B X (01 EAA) 100,000 0 100,000
& 50,000
Al 50,000
=0 A 100,000 0 100,000
= 50,000
Al 50,000
OOEMELEIIME 29 NR(OISE
) 100,000,000& 100,000
= 50,000
Al 50,000
HEMZLAINHE SALA HSLINE 19,800 0 19,800
& 9,900
Al 9,900
307 2IZ2t0|A 19,800 0 19,800
== 9,900
Al 9,900
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AN WFIEXIJ
B OlAO] ABIZON SIS SN (ABI=XI/2S - HHEL0IA)
chel: HAS RERINE SXIMHIA (crel:ae
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% HDE2
301 LBtE M= 7,000 7,000 0
o= 1,400
Al 5,600
02 MSIBEELG2(FISHE, XLTHS) 7,000 0 7,000
== 1,400
Al 5,600
=0l A 7,000 0 7,000
== 1,400
Al 5,600
OUXEIIAE HeteseE=2 A
1,000,000& x7H 7,000
< 1,400
Al 5,600
NAS SHE2IIAE Mot X 116,850 150,200 A33,350
& 23,370
Al 93,480
301 LEIEN= 116,850 150,200 A33,350
< 23,370
Al 93,480
02 AR EZE L6 Z2(FAHES, XILHE) 116,850 0 116,850
& 23,370
Al 93,480
=0 A 116,850 0 116,850
== 23,370
Al 93,480
ONAES S22 Heid] X
350,000& %1910+ 66,850
= 13,370
Al 53,480
ONAS StR2IHE MM istelsta
A& 1,700,000& «28H 47,600
& 9,520
Al 38,080
ONAS S22 xSsHl stEA|A
"l XI& 100, 000& x24&H 2,400
& 480
Al 1,920
HAEED OIs2RH| X& AIEAY 4,800 0 4,800
J| 2,400
° 480
Al 1,920
NI YeHEAD 4,800 0 4,800
J| 2,400
& 480




2A: WRIEEX2 0
B GlAo) ABIR0 SIS SANL(ABI=R/2S - HSL0IA)
gl HAS @ENIIE 2XAEIA (crel:xg
S - B S9(3H) - NSAY - BES S SR HDS2
Al 1,920
01 AIBIBE X432 (222X TE) 4,800 0 4,800
J| 2,400
= 480
Al 1,920
20 & 4,800 0 4,800
J| 2,400
= 480
Al 1,920
OEAERR Ots2=Hl X3 AEAY
4,800,000 4,800
J| 2,400
& 480
Al 1,920
HAUESREE X 17,910 33,050 215,140
| 14,328
& 1,791
Al 1,791
301 LetEEZ 17,910 33,050 A15,140
| 14,328
& 1,791
Al 1,791
01 A BEAGS(2REZE) 17,910 33,050 215,140
| 14,328
= 1,791
Al 1,791
20 & 17,910 33,050 A15,140
J| 14,328
& 1,791
Al 1,791
OG22 XSHXIA 17,910,000 17,910
| 14,328
& 1,791
Al 1,791
SIRRIIEXE 2=H S K& 1,529,817 1,221,310 308,507
| 1,223,853
& 152,982
Al 152,982
301 Let8EZ 1,529,817 1,221,310 308,507
| 1,223,853
& 152,982
Al 152,982
01 ASIBEEAHS(ZLETE) 1,529,817 1,221,310 308,507




2A: WRIEEX2 0
B GlAo) ABIR0 SIS SANL(ABI=R/2S - HSL0IA)
gl HAS @ENIIE 2XAEIA (crel:xg
S - B S9(3H) - NSAY - BES S SR HDS2
J| 1,223,853
= 152,982
Al 152,982
20 & 1,529,817 1,221,310 308,507
J| 1,223,853
& 152,982
Al 152,982
OstR2IIET S Ots2=|
1,488,027,000& 1,488,027
J| 1,190,421
== 148,803
Al 148,803
OtREIIEIH SNSEM 23|
93,0002 x30H 2,790
| 2,232
& 279
Al 279
OStRR2IIEIH FIO0tsL =]
0,000 65« 123 39,000
J| 31,200
& 3,900
Al 3,900
NYNEEH (NR/FULEESUS) 7,739,046 5,928,968 1,810,078
= 12,430
= 2,297,149
Al 5,429,467
wsJ|2 X2 7,734,246 5,925,968 1,808,278
= 12,430
& 2,297,149
Al 5,424,667
WEFH| XSAS 2,966,318 2,060,553 905,765
301 LetEEZ 60,000 60,000 0
4 Het=a9sti=2 60,000 60,000 0
20i & 60,000 60,000 0
ooferdszg 60,000,000& 60,000
308 AtXIEHHISO0IA 2,906,318 2,000,553 905,765
07 RMXIStHZtREZ2 82,248 76,572 5,676
204 & 82,248 76,572 5,676
OUStRIEAIY Eet 3 10,000,000& 10,000
OOIES3IIsAF 29|
1,000,000& 4% 4,000
O=10d n=sedl X3 68,247,900 68,248
08 WIS EX 2,698,210 1,800,000 898,210
=0 A 2,698,210 1,800,000 898,210




o
B
£l
0

= IOH Shs| FOH =
SN - B - B2I(SI) - MSA - B S e HIDE2
Ou=sadl X& 1,900,000, 0002 1,900,000
Ot 2T SEMHE M
798,210,000& 798,210
MO Al -2 USHIESH HEHES 125,860 123,981 1,879
=0l & 125,860 123,981 1,879
Ol RNSH 23 125,860,000 125,860
wsIl2 XAZH 5,230 3,470 1,760
201 2| 3,730 1,970 1,760
01 AFR2teltl 3,730 1,970 1,760
=0l & 3,730 1,970 1,760
OusAHIEXLZ 433 3o+
70,0003 «6 & 23| 840
OUsAEANE FHS st EE2= A
% =37 1,000,000& 1,000
OoHeraersl slo+H
70,0002 6 +33! 1,260
OstugA XA &2?3E 22+=E
70,0003 %9 630
202 (bl 1,500 1,500
01 =LHOAHI 1,500 1,500
=0l & 1,500 1,500
OusXEAAMY F=& =LHHYI
1,000,000& 1,000
Ostilga 2= =0
500,000& 500
& OotJl OlcH M2 H K& 50,000 54,000 24,000
201 LEr2E ] 50,000 54,000 4,000
03 A2 50,000 54,000 /4,000
=01l &t 50,000 54,000 4,000
OXt=stdm d2dx 23
14,000,000 14,000
Oodz - dst A48 29 16,000,000 16,000
O8tuz 0= dZ2HE wa 29
20,000,000 20,000
Ex=HUSLSFAI A 150,000 146,000 4,000
308 XHXIEHHSOIA 150,000 111,000 39,000
08 W=J|Z0tHetE = 60,000 96,000 36,000
=0l & 60,000 96,000 236,000
O== A2 HIODIEH 30,000,000 30,000
O=cln& ¢ 20l Oloist)
30,000,000 30,000
11 SI2SOtH et & EAS AL S| 90,000 15,000 75,000
=0l & 90,000 15,000 75,000
OJt=1 8HGl= 2l E HE (Lt
= 201 MAZ) 32,000,000 32,000
OFAH OIRE0 BT
48,000,000 48,000




A NG USEHRA(WE/FUILEESUS)
o2l sl X2 (e
S - B S(SH) - NISAY - BAS S SR HIDS2
Ostn & HAaEs 28t "UP DREAV,
10,000,000& 10,000
AU WALKI A 51,000 78,200 A27,200
308 XSOl 51,000 78,200 A27,200
07 RXISHRISE S 51,000 78,200 A27,200
20i & 51,000 78,200 A27,200
ORI WAKIA KXIEH 23
51,000,000& 51,000
KGO SEAS 30,000 0 30,000
201 Ler2IH| 30,000 0 30,000
03 A2 ZH| 30,000 0 30,000
20/ & 30,000 0 30,000
OUSUAl & 43| 30,000,000& 30,000
XS SSWE WAZLA TAAIS 24,860 25,800 AA0
= 12,430
& 3,730
Al 8,700
307 QIZ2tol ™ 24,860 25,800 A0
== 12,430
& 3,730
Al 8,700
02 RIZHEAAIEE L 24,860 25,800 A0
= 12,430
& 3,730
Al 8,700
201 & 24,860 25,800 AHAO
= 12,430
& 3,730
Al 8,700
Oxzs=s s ndztal XA
24,860,000 24,860
= 12,430
& 3,730
Al 8,700
EtE esitE Suas K 350,648 318,509 32,139
& 175,324
Al 175,324
308 AHXIEHMISO0IN 350,648 318,509 32,139
& 175,324
Al 175,324
08 WEI|2UHHSEX 350,648 318,509 32,139
& 175,324
Al 175,324
=04 & 350,648 318,509 32,139




M WEIHER
M NS WS

o w=sJ2 XN (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 175,324
Al 175,324
ORBY 2454 HDIA N
350,648,000 350,648
& 175,324
Al 175,324
ZIEtE stungal XA 3,536,190 3,239,436 296,754
& 1,768,095
Al 1,768,095
308 AHXIEHHISO0IN 3,536,190 3,239,436 296,754
& 1,768,095
Al 1,768,095
08 WEI|I2UHHSEX 3,536,190 3,239,436 296,754
& 1,768,095
Al 1,768,095
S0j &t 3,536,190 3,239,436 296,754
& 1,768,095
Al 1,768,095
Oz Etg stu=4 X 3,536,190,000& 3,536,190
= 1,768,095
Al 1,768,095
5t NSEAE HL(MSTE)(HEAIY) 570,000 0 570,000
& 350,000
Al 220,000
308 AtXIEHHISO0IA 570,000 0 570,000
= 350,000
Al 220,000
08 WRI|ZUUSEE 570,000 0 570,000
& 350,000
Al 220,000
=0 A 570,000 0 570,000
& 350,000
Al 220,000
O=x=xzsst 2% UIAC| WH
570,000,000& 570,000
& 350,000
Al 220,000
ANE =AM HRFE 4,800 3,000 1,800
ANE FAIH HLR2FX(3S) 1,000 1,000 0
203 RF=EH| 1,000 1,000 0
03 AEFRHLRFEIY| 1,000 1,000 0
20l 1,000 1,000 0
OAMBEAIH HRFA(SE) 1,000,000& 1,000




2AM:

WIS

HH: NG USEHE(US/FOILESSU])

9l AR EQAIM Y2EX LR
S - B S(SH) - NISAY - BAS S SR HIDS2
AN =QAIH HRFE(FA) 2,000 2,000 0

203 ZRF=EH| 2,000 2,000 0
03 Al FRIHRF=AIY| 2,000 2,000 0
20{ & 2,000 2,000 0

OANBAIY HARFZ(FA) 2,000,000& 2,000
S+HRI2(otsst US8) 1,800 0 1,800

204 AR AH| 1,800 0 1,800
03 EZ¥HREHI 1,800 0 1,800
204 & 1,800 0 1,800

O0tsEiiiiE EZ3HSR-HE=H|
50,0003 *3* 123 1,800
2] 0l @44 22X omet 2E(MIEX/ES - IIE 24,378,843 22,474,191 1,904,652
2014
= 12,215,443
& 8,858,750
Al 3,304,650
SEF JIg =4 24,378,843 22,474,191 1,904,652
= 12,215,443
& 8,858,750
Al 3,304,650
HELEE XJAY 358,548 978,641 620,093
= 268,911
& 62,746
Al 26,891
301 Ldet2HZ 358,548 978,641 A620,093
= 268,911
== 62,746
Al 26,891
01 MBI BEEAGS(ZREZNE) 358,548 978,641 620,093
= 268,911
& 62,746
Al 26,891
S04 & 358,548 978,641 A620,093
= 268,911
& 62,746
Al 26,891
O XA 358,548,000& 358,548
= 268,911
== 62,746
Al 26,891
S3EE2I0IE SGH(HEAID) 241,669 301,667 59,998
& 212,669
Al 29,000




=N

PSR 1

mk=3
mu: 2R 0lE HAW =X 0Eel PE(ASIEX/ES - ISL0I)
&t BEF JIg &4 (chel &2
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% e
307 21z2to|™ 241,669 301,667 59,998
o= 212,669
Al 29,000
10 AISISAIAIEHE2IHIEX 241,669 301,667 59,998
== 212,669
Al 29,000
=0l A 241,669 301,667 59,998
== 212,669
Al 29,000
OZ2Z2E0elold X 241,669,000& 241,669
& 212,669
Al 29,000
=38 Helold ESAIY 110,000 120,000 A 10,000
= 55,000
= 27,500
Al 27,500
401 Al&HILL0HY| 80,000 90,000 10,000
= 40,000
& 20,000
Al 20,000
01 Al&HI 80,000 90,000 10,000
= 40,000
== 20,000
Al 20,000
S0 A 80,000 90,000 A 10,000
== 40,000
== 20,000
Al 20,000
OZHIMENHEI0IE el2ee
80,000,000 80,000
= 40,000
== 20,000
Al 20,000
402 OIZHRFE0| A 30,000 30,000 0
= 15,000
== 7,500
Al 7,500
02 CI2IXIE2 AN E X (0| M RHS) 30,000 30,000 0
== 15,000
& 7,500
Al 7,500
=01 A 30,000 30,000 0
= 15,000




2A: WRIEEX2 0
I U8 OIS FAW =X A PE(MHSN/ZS - IEU0IY)
o°Hel: BEF JIE &4 (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 7,500
Al 7,500
OXUPH&ENeI0lE JIXH7 L
30,000,000& 30,000
== 15,000
& 7,500
Al 7,500
Sl Beg A3 4,412,590 4,481,911 69,321
& 4,412,590
301 Let8dZ 4,412,590 4,481,911 269,321
& 4,412,590
02 MBI BEM>H2(FLAHS, RSHA) 4,412,590 0 4,412,590
& 4,412,590
S04 & 4,412,590 0 4,412,590
= 4,412,590
Oseltd 252 K& 4,412,590,000& 4,412,590
& 4,412,590
&3 o1AHdl K& 5,364,601 5,230,365 134,236
= 3,218,760
& 1,502,088
Al 643,753
307 QIZ2t0| A 5,364,601 5,230,365 134,236
= 3,218,760
& 1,502,088
Al 643,753
10 At = XA EBEE2IHIE X 5,364,601 5,230,365 134,236
= 3,218,760
= 1,502,088
Al 643,753
201 & 5,364,601 5,230,365 134,236
= 3,218,760
& 1,502,088
Al 643,753
O=sggolel oy elAdl XI&
4,870,347,000& 4,870,347
= 2,922,208
& 1,363,697
Al 584,442
OHAEE WAL o1AHHl XA
118,792,000 118,792
= 71,275
& 33,262
Al 14,255
OHOotME 01y ol XI&
292,072,000 292,072




2A: WRIEEX2 0
mH DS 01 HAd =X 0lEe) REH(AS=K/ES - ISL0IA)
&t BEF JIg &4 (chel &2
S - B S9(3H) - NSAY - BES S SR HDS2
= 175,243
& 81,780
Al 35,049
OXEOHOISE WAL 2124 K&
83,390,000 83,390
= 50,034
& 23,349
Al 10,007
BRI MM XA 656,360 2,143,875 1,487,515
= 393,816
= 183,781
Al 78,763
301 Let8dZ 656,360 712,650 256,290
= 393,816
& 183,781
Al 78,763
01 AIBIBE X432 (2022 TE) 656,360 712,650 AB6,290
= 393,816
& 183,781
Al 78,763
S0j &t 656,360 712,650 256,290
= 393,816
= 183,781
Al 78,763
OYAWAHEER M DANKE
656,360,000 656,360
= 393,816
& 183,781
Al 78,763
Brg REREZ X3 346,680 366,768 220,088
= 104,004
Al 242,676
301 Let8dZ 346,680 366,768 A20,088
& 104,004
Al 242,676
02 ABIBEAH2(FHLAHS, RLHRE) 346,680 0 346,680
= 104,004
Al 242,676
20 & 346,680 0 346,680
& 104,004
Al 242,676
o=z 22242 I 346,680,000& 346,680
& 104,004
Al 242,676
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=N

PSR 1

mk=3
mu: 2R 0lE HAW =X 0Eel PE(ASIEX/ES - ISL0I)
ciel: Z2R JlS x4 (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
O0elold E=nda ARekAnNs X3
000,000 50,000
== 25,000
Al 25,000
BHAEMHIA 25 8,140 20,810 N 12,670
201 LB AY| 5,140 5,140 0
01 AF222telb] 4,940 4,940 0
=0 A 4,940 4,940 0
OzEsUs AL 1,000,002 1,000
OPSEuAAL B9 2
70,0002 x1424+33] 2,940
O0el0] s0IAIE AR2 =4
1,000,000& 1,000
02 B232g| 200 200
S0 A 200 200
O0elo] s0IAId 28 D1l
200,000& 200
202 04| 3,000 3,000
01 2yl 3,000 3,000
=0 A 3,000 3,000
OZUWH-I(Helold NEEHE &)
1,500,000& 1,500
QHEIIISAIE g2 A& 1,500,000& 1,500
B, M RAF XIKAISA 1,579,619 0 1,579,619
= 47,771
& 442,293
Al 189,555
101 21| 65,986 0 65,986
= 39,592
== 18,476
Al 7,918
M4 J1I2tHI22sSE s 65,986 0 65,986
= 39,592
& 18,476
Al 7,918
=0 A 65,986 0 65,986
= 39,592
& 18,476
Al 7,918
OJIZHHIZ2E2XsSE S 65,986
oll=a2 2,010,580 x3H x9& 54,286
= 32,572
& 15,200
Al 6,514
o wSH| 100, 000& *3H x9& 2,700




2AM:

PSR 1

mE=
N B OIS HAW =X oZet DE(ABEX/ES - IEL0A)
&t BEF JIg &4 (chel &2
S - B S9(3H) - NSAY - BES S SR HDS2
= 1,620
= 756
Al 324
YWEEE = = 250, 00021 x3 2 +92! 6.750
=2 4,050
= 1,890
Al 810
0 WS 150,0002 *3% %53 2,250
= 1,350
= 630
Al 270
307 212t0/™ 1,513,633 0 1,513,633
= 908, 179
= 423,817
Al 181,637
10 AFBIS AR 2H B X 1,513,633 0 1,513,633
=2 908, 179
= 423,817
Al 181,637
=20f| At 1,513,633 0 1,513,633
= 908, 179
= 423,817
Al 181,637
OUH DAL X2 (0RI0IE HAHES)
16,411,000 16,411
= 9,846
= 4,595
Al 1,970
OBXZDAHGIEES MDA X
1,497,222,00024 1,497,222
= 898,333
< 419,222
Al 179,667
2220 XA 3,374,502 748,583 2,626,009
= 2,530,944
= 500,554
Al 253,094
301 YpHBHZ 3,374,502 748,583 2,626,009
=2 2,530,944
= 500,554
Al 253,004
01 AR R RAH 2 (2D XHS) 3,374,502 748,583 2,626,009
=2 2,530,944
= 500,554




EA: DISAS
mu: 2R 0lE HAW =X 0Eel PE(ASIEX/ES - ISL0I)
ciel: Z2R JlS x4 (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 253,004
=0l A 3,374,592 748,583 2,626,009
= 2,530,944
& 590,554
Al 253,094
OR220 XA 3,374,592,000& 3,374,592
= 2,530,944
& 590,554
Al 253,094
SODLHEYH 29 3,028 3,326 A298
= 1,514
& 757
Al 757
301 LEIEN= 3,028 3,326 298
= 1,514
& 757
Al 757
14 J|EI2 A= 3,028 3,326 A298
= 1,514
< 757
Al 757
S0 A 3,028 3,326 298
= 1,514
o= 757
Al 757
ORZ2ZLHEH 29 3,028,000& 3,028
= 1,514
& 757
Al 757
Helold WA HRIMSE K& 395,000 364,320 30,680
< 79,000
Al 316,000
301 YBIENZ 395,000 364,320 30,680
& 79,000
Al 316,000
02 MSIBEE LG 2(FISHE, XLHI) 395,000 0 395,000
< 79,000
Al 316,000
S0 A 395,000 0 395,000
& 79,000
Al 316,000
O0E0|d E=nAA HEXE X
100,000 #5712 x23| 114,200




AN WIS
M 22 0ts AW SX odZet RE(MI=EX/ES - IIEL0Y)
-

cigl: =9SO0l A4 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 22,840
Al 91,360
Og0tet ESAF EE4S X2
40,000 *215H x 12& 103,200
& 20,640
Al 82,560
OQOZ0HOF (HE 0| ExAF =& X
100,000& x3H = 12& 3,600
& 720
Al 2,880
OFR0IX&E Helold B=:AF MM
&8l X 100,000 x 145« 128 174,000
& 34,800
Al 139,200
O2I0I1E JIsE2 (0208 &) (&M X) 30,000 34,000 A4,000
= 15,000
= 7,500
Al 7,500
402 CIZ2HRFE0| A 30,000 34,000 24,000
= 15,000
& 7,500
Al 7,500
02 SIZFXIEAIHE (0| THL) 30,000 34,000 24,000
= 15,000
== 7,500
Al 7,500
=20 A 30,000 34,000 24,000
== 15,000
== 7,500
Al 7,500
OBt 0lE HEFALS
30,000,000 30,000
= 15,000
== 7,500
Al 7,500
oelold X0l oxie| K& 343,200 343,200 0
o= 63,640
Al 274,560
307 BIZHOIA 343,200 343,200 0
== 68,640
Al 274,560
10 AISISAIAIEEHE2YHIEX 343,200 343,200 0
& 68,640
Al 274,560




=N

PSR 1

mE=
mu: 2R 0lE HAW =X 0Eel PE(ASIEX/ES - ISL0I)
&t BEF JIg &4 (chel &2
S - EHY - BR(31) - NSAY - BaS S SR b=
S0 & 343,200 343,200 0
= 68,640
Al 274,560
Oooglold E=xolx dxte| X&
550,000& 520 A 12& 343,200
& 68,640
Al 274,560
Oelold oHAMBH SOt I ALY 11,549 11,155 3%
== 2,310
Al 9,239
307 212t01A 11,549 11,155 394
& 2,310
Al 9,239
6 2= 11,549 11,155 3%
= 2,310
Al 9,239
204 & 11,549 11,155 3%
= 2,310
Al 9,239
ONelolE etEBH SOt XIJAA
11,549,000 11,549
= 2,310
Al 9,239
O2l0l& SHE Bl SHAMIDI X1 AR (KFMIZDF) 21,240 13,641 7,599
307 2I2t01A 21,240 13,641 7,599
6 28= 21,240 13,641 7,599
S0 &t 21,240 13,641 7,599
ONel0lE tESHl XY KA
21,240,000 21,240
g0l 293 26,000 25,000 1,000
= 15,600
& 7,280
Al 3,120
307 2I2t01A 26,000 25,000 1,000
= 15,600
= 7,280
Al 3,120
10 AISISXAEEE2IHIE L 26,000 25,000 1,000
= 15,600
& 7,280
Al 3,120
=0 A 26,000 25,000 1,000
= 15,600
& 7,280




25 WRIIEXJ
I U8 OIS FAW =X A PE(MHSN/ZS - IEU0IY)
&2 BE® JIE =4 (e &=
SA - B OR(B) - NRAY - BaS S SR RS2
Al 3,120
OnMu=Hl XI& 26,000,000& 26,000
= 15,600
& 7,280
Al 3,120
oelold stEdlz K 7,875 7,350 525
== 1,575
Al 6,300
307 2I2t01A 7,875 7,350 525
& 1,575
Al 6,300
11 AISI=SXIAIZEE X 7,875 7,350 525
= 1,575
Al 6,300
=0 A 7,875 7,350 525
= 1,575
Al 6,300
Oooelold ge&EdI=a X
105,000& *75H 7,875
= 1,575
Al 6,300
Oelold S& &4 K& 79,500 72,220 7,280
& 15,900
Al 63,600
307 2IZt0|A 79,500 72,220 7,280
= 15,900
Al 63,600
10 AISISXAEEE2IHIE L 79,500 72,220 7,280
& 15,900
Al 63,600
=0 & 79,500 72,220 7,280
= 15,900
Al 63,600
OB380elold =2l ol2H| XI&
550,000& x50 A% 12 33,000
& 6,600
Al 26,400
O0elold win7Hl XN (HLXA
2l0l&) 19,500,000& 19,500
& 3,900
Al 15,600
O0elold Wuted| XI&
600,000 *45J4 A~ 27,000
& 5,400
Al 21,600




2AM:
X XH -
(==l I

o

PSR 1

b HI EJ

2 JIE =N

=
S 0tS HAW =X QZzt RE(AE=X/ES - Ot
=

Z=al
==

A

g)

[
40
P
o

= = o
S - B S9(3H) - NSAY - BES S SR HDS2
gdeotErE XA 6,357,503 6,764,759 ANAO7,256
= 4,768,127
& 1,112,563
Al 476,813
301 LetEEZ 6,357,503 6,764,759 ANA07,256
== 4,768,127
& 1,112,563
Al 476,813
01 A BEAGS(2REZNE) 6,357,503 6,764,759 ANQ7,256
= 4,768,127
& 1,112,563
Al 476,813
=0 & 6,357,503 6,764,759 AN4Q7,256
= 4,768,127
& 1,112,563
Al 476,813
ogotEsz XA 6,357,503,000& 6,357,503
== 4,768,127
& 1,112,563
Al 476,813
OF)% ol =X olZet AF(MESK/ER - IHEL0 20,623,203 18,320,963 2,302,240
o
= 4,653,666
= 472,281
J| 342,877
= 8,362,456
Al 6,791,923
SR =2 MAS 0SS AblA WS 1,692,130 1,562,712 129,418
= A,872
sy 472,281
& 339,382
Al 785,595
CHatH =SS A (22]) 24,000 7,200 16,800
= 12,000
& 6,000
Al 6,000
307 QIZ2t0| A 24,000 7,200 16,800
= 12,000
& 6,000
Al 6,000
10 Al =S XA EEE2IHIE X 24,000 7,200 16,800
= 12,000
& 6,000




=N

mE=
B OlF AW =X 01TE RE(ASIZN/LS - ISU0A
Cigl: BRE =2 HAS OIS=X AHIA M2 (el me
S - B S9(3H) - NSAY - BES S SR HDS2
Al 6,000
20 & 24,000 7,200 16,800
= 12,000
& 6,000
Al 6,000
OLEtH == A (281 (Z=AICHEM
SSHE (8% £2))
1,000,000& *12& 12,000
= 6,000
& 3,000
Al 3,000
OLHEtH =S A (281 (S=AICHEM
==4E) 1,000,000 *12& 12,000
iy 6,000
= 3,000
Al 3,000
CIEH SSAMg(29X1d) 177,384 107,544 69,840
iy 88,692
& 44,346
Al 44,346
307 QIZ2tol ™ 177,384 107,544 69,840
s 88,692
& 44,346
Al 44,346
10 AlSI=SXIAEBHE2IHIEX 177,384 107,544 69,840
s 88,692
& 44,346
Al 44,346
=0i & 177,384 107,544 69,840
= 88,692
& 44,346
Al 44,346
OtE sSAg XA (1A (S
ZANCENSEMH(MYE =8))
1,985,660 *3H * 12& 71,484
= 35,742
& 17,871
Al 17,871
OUEN =sSAY 2g X2 (e128]) (5
ZAICHE NS EHIEH)
1,765,000& 5 * 12& 105,900
= 52,950
& 26,475
Al 26,475
CIHatH SSAE 23A12F HE XI& 21,274 0 21,274
= 10,637




=N

e
HM: Ol 2AYE =X 2Tt RE(AS=Z2X/BES - IISLHY
ciel: BXiE =2 HAS OlS=Kl AHIA I3 (crel:ae
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% HDE2
= 5,319
Al 5,318
307 212to|™ 21,274 0 21,274
g 10,637
& 5,319
Al 5,318
10 AISIZXAEHEASIHIEX 21,274 0 21,274
g 10,637
== 5,319
Al 5,318
S0 A 21,274 0 21,274
g 10,637
== 5,319
Al 5,318
OLIEt S=2SA 2HAIZF A3 X2
2dl) L0003 +11& 5,500
g 2,750
== 1,375
Al 1,375
OUEN SsSAIY 2HAIZF AE X2
Q1AHH|) 1,434,000& 118 15,774
g 7,887
& 3,944
Al 3,943
CENSSHE (KNHEESAIY) 300,000 300,000 0
< 60,000
Al 240,000
307 GI2H0| & 300,000 300,000 0
& 60,000
Al 240,000
10 AISISAIAEHAESIHIEX 300,000 300,000 0
< 60,000
Al 240,000
S0 A 300,000 300,000 0
& 60,000
Al 240,000
OotehissHdE KY9ESIAIE K&
25,000,000« 12& 300,000
o= 60,000
Al 240,000
CIEtNESaEHH F=ot29H] BEXRXIE (SO 49,342 37,492 11,850
307 21zZto| ™ 49,342 37,492 11,850
10 AISIZ2XAIEHESHHIEX 24 942 16,492 8,450
=01 A 24,942 16,492 8,450




ol
i’
oF
ol

=
Bl

(ABISX/EF - Ot
EX MHIA W3

| 75
=

n

o O () o o o
S < 5 B 3 B
|r_“_ @D ™ M (o) [e0] (ee]
n
Kl
E
=]
o O o o (@] o
= s 3 = B 8 s
o NN Q & o) o)
.A._Hﬁ — —
= O
(=)
R0
il
)
— < o © N — N — — (aV] (aV]
S S 8 &8¢ S ) S8 < 8 g 8 g 88 8 S 888 88
@ ©v OFy Jg-ogeggreggoesygygdoes - - SE
3l 3l o T B B
< RO
S R0
WUuW=| MU MW= WU moW = m W= TS o
® ¥ 7 n B o B 12
w | o _ %od 3% - ; = :
o g W ; x 5 ;
=5 =5 ¥ = = = g g g
2l PERE L 0 mA_ - . =R -
P55 848 5 83 = i
= = 2= = S I
a1k W 8rm I u iy
i 0H Ar | 5 = o 5
Ik l==== = = |W G ol A o
X |zl oW I o (U 80 N ol E
S [ -TE Y =W 1S oM 4 - n
= | s 5 K W |3 ol K T 00
5 [Z= T e R (O Y W ok <d B
= |n® p? wz @ R |T _ oF - Ul 0l
=z == &Ul =z a0 i R
o |am an w= X (W 0 o _ Ko ~ il 0
®|Sw S S 9 Ou (Wl ) =i < Al 0 ul Ul
wJoToT O Z=00 |3 i =< = O O O O
. — — o
g il S
IF Ul




=M DS
Hu: Ols AW =X 0IZet IH(MSZX/LSS -t
sixtel se

B[
He
2
0x

9l BIE =S HAS OIS=X AHIA HIB crel &
S - B S9(3H) - NSAY - BES S S =2
Al 140
OEYAEE EHOIX RXE=H|
350,000&*23] 700
= 560
& 42
Al 93
ORo1dH| AMAE Y|
100,000 = 12& 1,200
iy %60
& 72
Al 168
O=&)| iz 200,000& =123 2,400
= 1,920
& 144
Al 336
OAIRAZY AR22ld] 10,000,000& 10,000
= 8,000
& 600
Al 1,400
OZEdtEg T2 H2Y 75,000,000 75,000
iy 60,000
= 4,500
Al 10,500
02 2223l 21,140 20,140
= 16,913
& 1,268
Al 2,959
S0 &t 21,140 20,140
iy 16,913
= 1,268
Al 2,959
O=2222 % HAl 15,740,000 15,740
= 12,593
= A4
Al 2,203
OHIEHAIE e Y 2 ABISHIHE
=1 1,400,000& 1,400
iy 1,120
= 84
Al 196
OxteEs Sl 2,000,000 2,000
= 1,600
& 120
Al 280
OxteE=Al2teldl 2,000,000& 2,000




=N

mk=3
Bu: Ol AW =X 01Ze} RE(ABI=X/ES - NSL0IA)
Cigl: BRE =2 HAS OIS=X AHIA M2 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
g 1,600
o= 120
Al 280
03 AR HH| 9,000 9,000 0
g 7,200
& 540
Al 1,260
=01 A 9,000 9,000 0
g 7,200
== 540
Al 1,260
OBZ I T2 29 4,500,000 4,500
g 3,600
== 270
Al 630
OXGAE HH 22 29
4,500,000& 4,500
g 3,600
== 270
Al 630
202 04| 2,000 3,500 A 1,500
g 1,600
= 120
Al 280
01 =Wyl 1,000 1,500 2500
g 800
& 60
Al 140
S0 A 1,000 1,500 A500
g 800
== 60
Al 140
OAtdl2tel & T2 A& |
1,000,000& 1,000
g 800
& 60
Al 140
b 222 WU 1,000 2,000 A 1,000
g 800
& 60
Al 140
=0 A 1,000 2,000 A 1,000
rag 800
& 60




EA: DISAS
HM: Ol 2AYE =X 2Tt RE(AS=Z2X/BES - IISLHY
Cigl: BRE =2 HAS OIS=X AHIA M2 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 140
(@IME=10:1:] 1,000,000 1,000
g 800
< 60
Al 140
301 YBtE M= 4,130 8,700 A4 570
rag 3,303
& 249
Al 578
01 MSIEEE LG Z2(2DEXTH) 630 3,000 N2,370
g 503
& 39
Al 88
S0 A 630 3,000 N2,370
g 503
< 39
Al 88
Qa2 T2 29 630,000 630
rag 503
& 39
Al 88
11 SHAMAHI XIS 2 3,500 5,700 A2,200
rag 2,800
== 210
Al 490
S0 A 3,500 5,700 22,200
rag 2,800
& 210
Al 490
OEZ Y MAEIIAN S, HME|
350,000 *103] 3,500
g 2,800
< 210
Al 490
Ot==2 X WA ItA X 720 720 0
g 360
& 180
Al 180
202 04| 720 720 0
g 360
== 180
Al 180
0 222 WU 720 720 0




M RBIENAD
. Ol HAY =X oZe 2FE(MIEX/ER - IIFLHY
Cigl: BRE =2 HAS OIS=X AHIA M2 (el me
S - EHY - BR(31) - NSAY - BaS S SR b=
ax 360
= 180
Al 180
20 & 720 720 0
= 360
& 180
Al 180
Ou=0dl 120,000 3«69 720
s 360
& 180
Al 180
Ots=XIS& 6,710 36,080 229,370
201 et2AH| 3,710 3,080 630
01 AtS2teltl 3,710 3,080 630
=0 A 3,710 3,080 630
Oots=aRAAS 3o+
70,0003 x5 *23] 700
O0ts=XM AT 3o
70,0003 x9H »23| 1,260
O0tS3S 3o+ 70,0002+ 18Y 1,260
OB EAl NY0tsHEH2Ig/Rs & A
AESSHM 32 =Y 70,0002 *7H 490
202 04| 1,000 1,000
01 2L 1,000 1,000
=0 A 1,000 1,000
Oots=XS& I 1,000,000& 1,000
301 detEAEZ 2,000 2,000
11 HAIRHIX RS2 2,000 2,000
20i & 2,000 2,000
OXE0lsHE L OISEXIAIE &AL X
& 20,0002 100 2,000
otsstly 23 X 37,841 17,960 19,881
201 et Y| 31,540 15,460 16,080
01 AtS2teltl 28,140 9,120 19,020
=0 A 28,140 9,120 19,020
OFoldy| & 201 3tiiiet AIAE S|
100,000 *12& 1,200
O=&)| dtiz 200,000 *12& 2,400
OAR4 23| 1,540,000& 1,540
OO0t=sHiHog W=s Y 24H el
23,000,000& 23,000
02 2323l 3,400 6,340 A2,940
S0 &t 3,400 6,340 A2,940
O=232a2 % HAl 150,000 *12& 1,800
OXtg sSXl&eldl 1,000,000& 1,000




=N

mE=
B OlF AW =X 01TE RE(ASIZN/LS - ISU0A
Cigl: BRE =2 HAS OIS=X AHIA M2 (el me
S - B S9(3H) - NSAY - BES S SR HDS2
| Oxtar =z 50,0002 * 128 600
202 04| 2,000 2,500 A500
01 2L 2,000 2,500 A500
S04 & 2,000 2,500 A500
OOlEStTolE 22EA 2HoiH
2,000,000& 2,000
405 RHaHESH| 4,301 4,301
01 TS EFHSHI 4,301 4,301
20l A 4,301 4,301
OOtSSIH AAEA HLED] 2
2,200,000& 2,200
OO0t=st ZAMMEA oJXH 2
110,000 *6IH 660
OO0t=st ZAAEA! HIOISAE 2
649, 0002 *2H 1,298
O¥AIE OlsAlHIOlIZ ¢ 143,000 143
A ESHAEE 29 14,400 14,200 200
201 et23H| 13,200 13,200
01 AtS2teltl 13,200 13,200
204 & 13,200 13,200
OSHAEIE ARA Y2
1,100,000& = 12& 13,200
202 O4H| 1,200 1,000 200
01 =LHB] 1,200 1,000 200
20/ & 1,200 1,000 200
OSHAEE Z2 08329 |
100,000 x12& 1,200
XNE0tsHdle 298 X %,384 410,400 A314,016
= 48,192
& 24,096
Al 24,096
307 QIZ2t0| A %,384 410,400 A314,016
= 48,192
& 24,096
Al 24,096
10 ALSISXAIEHE2ZGHIER 96,334 410,400 A314,016
sy 48,192
& 24,096
Al 24,096
=04 & %,384 410,400 AN314,016
iy 48,192
& 24,096
Al 24,096
OXIH0otSHE 298| XIA(CHS)
1,338,660 =123 16,064
= 8,032




EA: DISAS
B Ol HAWE =X 01Te IE(ASI2X /PR - L)
ciel: BXiE =2 HAS OlS=Kl AHIA I3 (crel:ae
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% HDE2
= 4,016
Al 4,016
OXIS0olsHdE 298l X2 (MOS)
1,338,600« 128 16,064
g 8,032
== 4,016
Al 4,016
OXlS0ol=4dE 298l X2 (ME)
1,338,660 x 122 16,064
rag 8,032
& 4,016
Al 4,016
OXY0ots4HE 249H| (0=
SIEAR) 1,338,660 x12& 16,064
rag 8,032
& 4,016
Al 4,016
OXNY0otsHE 249H] XK (stL2)
1,338,600« 12& 16,064
g 8,032
== 4,016
Al 4,016
OXS0l=sHdE 298| X2 (si=sstEA
2) 1,338,660 x12& 16,064
g 8,032
o= 4,016
Al 4,016
XNEotsHE o1AHdl A& 402,192 402,192
g 201,096
& 100,548
Al 100,548
307 2120l ™ 402,192 402,192
rag 201,096
& 100,548
Al 100,548
10 AISISAIAEHE2IHIEX 402,192 402,192
rag 201,096
== 100,548
Al 100,548
S0 A 402,192 402,192
rag 201,096
< 100,548
Al 100,548
OXY0tsHE olAd| X (CHs)
2,793,000 x2H x12& 67,032
g 33,516




=N

mk=3
B Ol HAWE =X 01Te IE(ASI2X /PR - L)
ciel: BXiE =2 HAS OlS=Kl AHIA I3 (crel:ae
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% HDE2
= 16,758
Al 16,758
OXY0otsHE elAdl XK (MOE)
2,793,000 x2H x12& 67,032
g 33,516
== 16,758
Al 16,758
OXY0otsHIE 1A X2 (MS)
2,793,000 x2H x12& 67,032
rag 33,516
& 16,758
Al 16,758
OXSE0tsHE 12| I|°J(01§%§:”,5
SIEAR) 2,793,000 =22 x 12 67,032
rag 33,516
& 16,758
Al 16,758
OXIE0olsHE Q1AHHl XIS (stLZR)
2,793,000 x2H x12& 67,032
g 33,516
° 16,758
Al 16,758
OXY0tsHE ClAH|l X (dH=etEA
= 2,793,000 x2H x12& 67,032
g 33,516
o= 16,758
Al 16,758
NAOISHE SAHAF C1AHH| K& 93,350 154,900 261,550
== 18,670
Al 74,680
307 21z2to|™ 93,350 154,900 61,550
== 18,670
Al 74,680
10 AISISAIAIEHE2YHIEX 93,350 154,900 261,550
= 18,670
Al 74,680
=0 & 93,350 154,900 261,550
== 18,670
Al 74,680
OXND0otsHE SALR 2124H| XK (CHs)
7,777, 500& x2H 15,555
< 3,110
Al 12,445
OXIE0otsHIE SAMXF Q1 4H] XIS (AHO}
) 7,779,500& x2H 15,559
== 3,112




=N

k=
HE: Ols AW =X 2T RE(MEX/ES - IIEL04
Co: BIRte =2 HAS OlS=X MHIA R2 (ctolEel
SN - BB CRI(3IH) - NIRA - BAS (ggj) @%%gm;ﬁ% BlRE2
Al 12,447
OXISOtSHIE ZAK Q1248 K2 (AH)
7.779,5002 x4 15,559
[ 3,112
Al 12,447
OXIHOtSHIE ZAR 124H] X&(02
YH=SIEAZ) 7,779,500 2% 15,559
[ 3,112
Al 12,447
OXIHOtSHIE SAMRF Q124H] K& (5Lt
) 7,779,500 2«2 15,559
[ 3,112
Al 12,447
OXISOLSHIE SARF Q124H] X (3=
SEAZR) 7.779,5002 x2% 15,559
[ 3,112
Al 12,447
XHotSHE FIH2gH 22X 3,600 10,044 6,444
[ 720
Al 2,830
307 g12t0l & 3,600 10,044 B, 444
[ 720
Al 2,830
10 ABISXAIEHE2HHIE X 3,600 10,044 NG, 444
[ 720
Al 2,830
20 A 3,600 10,044 6,444
[ 720
Al 2,830
OXIOISHIE =It29H| XIS (CHs)
50,0002 * 122 600
[ 120
Al 480
OXIOtSHIEH FIH2ZHl X2 (MOE2)
50,0002 * 122 600
[ 120
Al 480
OXIOtSHIE FIt2PH| X (MS)
50,0004 1224 600
[ 120
Al 480
OXIOtSHIEH It X2 (02
HESIEAZ) 50, 00021 1224 600
[ 120
Al 480
OXIYOtSHIH 2Pl X2 (6HLR)
50,0002 1224 600




2AM: WKRIEXS
M. Ol HEAW =X et RE(ARIEXN/ES - IIELNHY)
o9l B =2 MAS OLS=X AMHIA RIS CEER-E
_ }OH SlE| FOH
SN - ZH - S(3H) - NRAY - BAS (g%;) Eaﬁ‘”}ﬁ)ﬂ BlRE2
== 120
Al 480
OXIZ0orsHE FIOt2ZH| XA (H=5
EAR) 50,000 x12& 600
== 120
Al 480
XE0otsHH F=Io2dH] 22X (RHHIZ=IH 63,074 60,244 2,830
307 CIZ2H0I ™ 63,074 60,244 2,830
10 AISISXIAIEYHE2HEIEX 48,514 48,284 230
=0 A 48,514 48,284 230
OXlE0olsHdH 298I(CHs)
1,200,000& 1,200
OXISE0tSHE 2SHI(AMOIS)
1,200,000& 1,200
OXIE0lsHH 298I(AHS)
1,190,000& 1,190
OXS0lsHE 2dHl(ois2gsi=stE
AR) 1,400
OXl0olsHdH 298I(otL2)
1,340,000& 1,340
OXS0IsHE 2HH|(BE=EEEAZR)
1,400,000& 1,400
OXY0otsHE elAHHI(CHs
6,591,000& 6,591
OXIE0otsHE IAHHI(AHDIS)
7,050,000& 7,050
OXIE0otsHH QIAHBI(AHS)
7,241,000& 7,241
OXIS0olsHH elAHb|(oisdsi=stE
AE) 6,629,000& 6,629
OXlE0otsHH IAHI(BlL2)
6,745,000 6,745
OXIS0lsHE QIHH|(BHEEEAR)
6,528,000 6,528
11 MBS XAIEEER 14,560 11,960 2,600
S0 A 14,560 11,960 2,600
OXIE0otsHH AFZEHI(CHS)
2,600,000& 2,600
OXIE0otsHE AFEHI(AHS)
2,600,000& 2,600
OXIE0otsHIE AFHHI(AHDIS)
2,600,000& 2,600
OXIS0lsHE AtZHI(0is2dsi=stE
AE) 2,800,000& 2,800
OXIE0otsHEH AFZHI(BHLIZ)
1,160,000& 1,160
OX0ISHE AIHEI(HSSIEAR)
2,800,000& 2,800
stiimloliols 25 € K& 4,000 6,000 A2,000
301 Let8XZ 3,000 3,000 0
02 MBI BRI Z2(FLHS, NEHE) 3,000 0 3,000




EA: DISAS
B Ol HAWE =X 01Te IE(ASI2X /PR - L)
ool BRlE B2 MAS OLS=X AHIA HI2 (cHoy: @
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% HDE2
S0l A 3,000 0 3,000
OstiiIloiots MElA 23
100, 000& *30H 3,000
307 2120l 1,000 3,000 A2,000
01 o2 32=H| 1,000 3,000 A2,000
=01l A 1,000 3,000 A2,000
Osttilolols Xl ¥ JCH|
100,000& = 10H 1,000
SHHIlcHOlsSaH 29 K& 237,182 229,554 7,628
= 94,872
& 71,155
Al 71,155
307 2120l ™ 237,182 229,554 7,628
= 94,872
o= 71,155
Al 71,155
10 AISISAIAIEHE2IHIEX 205,535 229,554 N24,019
= 82,214
= 61,661
Al 61,660
=0 & 205,535 229,554 N24,019
= 82,214
& 61,661
Al 61,660
Ostiiuloliots&E e 29h|
205,535,000 205,535
= 82,214
== 61,661
Al 61,660
11 AISIEXAIEEX 31,647 0 31,647
= 12,658
< 9,494
Al 9,495
S0 A 31,647 0 31,647
= 12,658
o= 9,494
Al 9,495
OstiiLloHotsS & B At |
31,647,000 31,647
= 12,658
== 9,494
Al 9,495
StHHIloHot=a e 29 K& (XA 21,547 16,674 4,873
307 QI2H0| & 21,547 16,674 4,873




2A: WRIEEX2 0
Hu: OlE HAE =X 01DE RE(AF=X/ES - ISL0IA
o°Hel: B =2 MAS Os=Al AblA MES (e
S - B S(SH) - NISAY - BAS S SR HIDS2
10 AFSI=SXAEEE2IHIE X 21,547 16,674 4,873
=04 & 21,547 16,674 4,873
Osiinlaiotssd 22 XI&
10,773,500& 23| 21,547
Ots - 44 =SXAMHIAL DBt &F 18,931,073 16,758,251 2,172,822
= 4,558,794
| 342,877
& 8,023,074
Al 6,006,328
HEEAY=s K& 153,600 9%,000 57,600
301 Ldet2NZ 153,600 9%,000 57,600
2 A EBEE 62 (FHLAS, KSHA) 153,600 0 153,600
=04 & 153,600 0 153,600
ONEA0IE ARPED
153,600,000& 153,600
SUPIE=S =y 9,841,000 8,162,000 1,679,000
& 6,889,000
Al 2,952,000
301 LetBEZ 9,841,000 8,162,000 1,679,000
== 6,889,000
Al 2,952,000
02 AIBIBEELH2(FLAHS, KL) 9,841,000 0 9,841,000
& 6,889,000
Al 2,952,000
S0i & 9,841,000 0 9,841,000
o= 6,889,000
Al 2,952,000
Osp|IE2Y 9,841,000,000& 9,841,000
& 6,889,000
Al 2,952,000
J8E (22 #52)X& 75,000 37,950 37,050
& 15,000
Al 60,000
307 QIZ2t0|A 37,500 37,950 A450
= 7,500
Al 30,000
10 Al2I= XA EHE2FHIE X 37,500 37,950 A450
& 7,500
Al 30,000
20l & 37,500 37,950 A450
== 7,500
Al 30,000
OB&o & o1l 258 #
37,500,000 37,500




2AM:

WIS 0

Hu: OlE HAW =X 01DEl RE(AF=N/ES - ISL0A)
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 7,500
Al 30,000
308 AtXISHMSO0IN 37,500 0 37,500
& 7,500
Al 30,000
11 I 2SO CHSHE A X AELALIS ] 37,500 0 37,500
& 7,500
Al 30,000
=0 & 37,500 0 37,500
& 7,500
Al 30,000
ootaeld olAHdl 258 K&
37,500,000 37,500
= 7,500
Al 30,000
Zgers Ots=a4a A& 29,200 304,045 A4,845
& 59,840
Al 239,360
301 LetEEZ 299,200 304,045 A4,845
= 59,840
Al 239,360
03 A& 452 (X&) 299,200 0 299,200
& 59,840
Al 239,360
204 & 299,200 0 299,200
= 59,840
Al 239,360
O0rSSAX2 (YstE ots34ll)
8,000 x440% x85 299,200
& 59,840
Al 239,360
2S0ts MECHEIIA(s2IME]) 8,830 12,360 A3,480
& 1,776
Al 7,104
301 LetEEZ 8,880 12,360 23,480
& 1,776
Al 7,104
03 A2 &= 453 (KIETH) 8,880 0 8,880
& 1,776
Al 7,104
S0j &t 8,880 0 8,830
& 1,776
Al 7,104




2AM:

WIS 0

mu: OlE HAE =X 01DPl RE(AFZX/ES - ISL0IA
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
OS50S MEE XA (SZNEI)
8,880,000& 8,880
= 1,776
Al 7,104
HetgolEd IR ASE 710,000 833,000 128,000
= 533,000
& 71,000
Al 106,000
301 LetEEZ 710,000 838,000 A128,000
= 533,000
= 71,000
Al 106,000
01 A BEAGS(ZRNEZME) 710,000 838,000 A 128,000
= 533,000
& 71,000
Al 106,000
S0/ & 710,000 838,000 A 128,000
= 533,000
& 71,000
Al 106,000
OARCHL0I1EH KIJAAS
2,000,000& *355H 710,000
= 533,000
& 71,000
Al 106,000
250ls MEMEXIA(SHAHENZ) 14,000 42,000 A28,000
& 2,800
Al 11,200
301 LdetENZ 14,000 42,000 228,000
& 2,800
Al 11,200
03 AISI B &= 452 (KIELTH) 14,000 0 14,000
& 2,800
Al 11,200
S0 &t 14,000 0 14,000
& 2,800
Al 11,200
OB S0t MEOHHX|IA(HEMEINZ)
250,000 =7 G +8& 14,000
& 2,800
Al 11,200
250ls MEEXA(NHEEZ) 40,000 15,000 25,000
& 8,000
Al 32,000




2AM:

WIS 0

Bu: 01 HAE =X 0lZe} IE(ABI=X/ES - NSL0IA)
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
301 Let8dZ 40,000 15,000 25,000
& 8,000
Al 32,000
03 Mg BE 62 (XILTHE) 40,000 0 40,000
= 8,000
Al 32,000
20 & 40,000 0 40,000
& 8,000
Al 32,000
OE50Is MENXIA(XEHHEZ)
10,000,000& x4 40,000
& 8,000
Al 32,000
2SEZ0ts NEY XA 100,800 75,600 25,200
= 80,640
& 4,032
Al 16, 128
301 LetE8dZ 100,800 75,600 25,200
= 80,640
& 4,032
Al 16, 128
01 A BE A S(2REZE) 100,800 75,600 25,200
= 80,640
= 4,032
Al 16, 128
20 & 100,800 75,600 25,200
= 80,640
& 4,032
Al 16,128
OBs&=0ts &Y NA
100,800,000& 100,800
= 80,640
== 4,032
Al 16, 128
Ots2E X2 AR K& 173,729 212,690 A3B,%1
= 121,610
& 10,424
Al 41,695
301 LdetE2NZ 173,729 212,690 A\38,961
= 121,610
& 10,424
Al 41,695
01 MBI BEEAGS(ZREZNE) 173,729 212,690 38,961
= 121,610




2AM:

WIS 0

B OlF MAE =X 01Tp RE(ASIEN/LS - ISU0IA
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 10,424
Al 41,695
20 & 173,729 212,690 A3B,%1
= 121,610
& 10,424
Al 41,695
OO0t=s<e XI2AAH 173,729,000& 173,729
= 121,610
& 10,424
Al 41,695
OlsEsdEd XA 10,000 15,000 25,000
= 8,000
& 600
Al 1,400
201 Ler23d| 5,450 3,700 1,750
= 4,360
& 327
Al 763
01 AtR22teltl 4,250 2,500 1,750
= 3,400
= 255
Al 595
20i & 4,250 2,500 1,750
= 3,400
& 255
Al 595
Ou=| 250,000& 2 500
= 400
& 30
Al 70
OAtIZ2E 2R3 3o+
70,0002 x5 H x53] 1,750
= 1,400
& 105
Al 245
O3 ¢ 2,000,000 2,000
= 1,600
& 120
Al 280
02 323l 1,200 1,200 0
= %60
& 72
Al 168




SA: DEIEXAY
M OfS HAW =X oTe PE(MESN/2S -

=
B[
He
2
0x

o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
20l & 1,200 1,200 0
= 9%60
& 72
Al 168
O=2E 23 50,000& *2CH* 123 1,200
= 960
& 72
Al 168
202 04| 500 500 0
= 400
= 30
Al 70
01 2] 500 0 500
= 400
& 30
Al 70
S0/ & 500 0 500
= 400
& 30
Al 70
O3LH0dHI 250,000& 2 500
= 400
= 30
Al 70
301 Let8dZ 4,050 10,800 26,750
= 3,240
& 243
Al 567
01 AIBIBE X432 (2022 TE) 4,050 10,800 26,750
= 3,240
& 243
Al 567
S0j &t 4,050 10,800 26,750
= 3,240
& 243
Al 567
OAH2ZEE & Ale|ZAt|
205,000& 104 2,050
= 1,640
& 123
Al 287
OMUIASEA & JIEHKIRIYI
200,000 =104 2,000
= 1,600




2AM:

X XH -
S=-

DEIIETE
OIS AW =X olH2t RE(ASIZX/2S - II5Y

Ol

0x

)

SISl OF - MAW SXMHIAS Jig 8= (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 120
Al 280
ots2g X(80 13) 4,631,943 4,725,866 A93,923
= 3,705,554
== 277,917
Al 648,472
301 LBIEXN = 4,631,943 4,725,866 A93,923
= 3,705,554
< 277,917
Al 648,472
01 Al EZE A6 Z2(2DEXTH) 4,631,943 4,725,866 A93,923
= 3,705,554
& 277,917
Al 648,472
=01l A 4,631,943 4,725,866 A93,923
= 3,705,554
o= 277,917
Al 648,472
Oolsx=% 20 4,631,943,000& 4,631,943
= 3,705,554
< 277,917
Al 648,472
OlsEAEIH HoIZx29 X 17,454 0 17,454
= 8,727
Al 8,727
101 21248 17,454 0 17,454
= 8,727
Al 8,727
M4 JI2tH22sSES 17,454 0 17,454
= 8,727
Al 8,727
=01l A 17,454 0 17,454
= 8,727
Al 8,727
(OPI==] 1,930,000& «8& 15,440
= 7,720
Al 7,720
OHX=E 57,600& x5! 288
= 144
Al 144
O=201H2 15,440,000 *4 . 5% 695
= 347
Al 348




25 WRIIEXJ
FE: Of5 AW =X QE2t DE(AEST/ZS - HEUCHY
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
O=01AHLEH 15,440,000 *3.495% 540
= 270
Al 270
O&IALEH 530,000&*12.27% 66
= 33
Al 33
OLNSBANEE 15,440,000 *2.75% 425
= 213
Al 212
s Ots24A K& 286,800 264,320 22,480
301 LetBAEZ 286,800 264,320 22,480
02 A BEMHS(FUAHS, RNSWHA) 286,800 0 286,800
20 & 286,800 0 286,800
OHE Ots=aldl X 286,800
0 ZA0tS 8,000& *x30H 3653 87,600
o KNIFOtSHEH Ots
8,000 * 100 2493 199,200
RESOts 1EE 29 K& 134,140 128,488 5,652
= 53,656
== 40,242
Al 40,242
308 AtXISHMSO0IN 134,140 0 134,140
= 53,656
& 40,242
Al 40,242
11 S| 2S0ICHsHE & X2 E ALY 134,140 0 134,140
= 53,656
& 40,242
Al 40,242
S0 &t 134,140 0 134,140
= 53,656
= 40,242
Al 40,242
ORES0ts 1Es 294 A&
134, 140,000& 134,140
= 53,656
& 40,242
Al 40,242
RESOtE 188 29 XN (KA 20,041 9,397 10,644
308 AXIEHMSOIH 20,041 0 20,041
11 S| 2SHICIsHE A X E ALY 20,041 0 20,041
=0 A 20,041 0 20,041
ootr2d 294l 20,041
QES0Is NEXNA(ZHHOIS XEXE) 2,050 0 2,050




2AM:

X XH -
S=-

WIS 0
Ots FEad =X ol=Zet IF(MIEX/ES -

o Ots - 348 =SXMEIAL J|et &= (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 1,435
& 123
Al 492
308 AtXIEHHISO0IA 2,050 0 2,050
= 1,435
& 123
Al 492
11 SI2S0ICHEHE AR L EALSHI 2,050 0 2,050
= 1,435
= 123
Al 492
20/ & 2,050 0 2,050
= 1,435
& 123
Al 492
OZHEOts RHE XA 2,050,000 2,050
= 1,435
& 123
Al 492
oF=4J|2t 2K 700 0 700
J| 490
& 42
Al 168
301 Let8dZ 700 0 700
J| 490
& 42
Al 168
01 AISIEEAHS(ZNEZTE) 700 0 700
J| 490
& 42
Al 168
S0 &t 700 0 700
J| 490
= 42
Al 168
Og=7|2t XX 700,000 700
J| 490
& 42
Al 168
LAOISIIEXNE (L) 28,800 25,200 3,600
J| 20,160
= 1,728
Al 6,912




L WSIIEXRAD
D OFS FAW =X opt RE(MISX/ES - Y
L OFS - HAE =XMHIAY JIB =5

=) S /|

Ol

0x

[
"
P
o

A S8 S2(3) - KIRAY - BaS S SR HIDS2
301 Let8dZ 28,800 25,200 3,600
| 20,160
& 1,728
Al 6,912
01 AIBIBE X432 (2222 TE) 28,800 25,200 3,600
| 20,160
& 1,728
Al 6,912
20{ & 28,800 25,200 3,600
J| 20,160
= 1,728
Al 6,912
Ogdits s X 28,800,000& 28,800
| 20,160
& 1,728
Al 6,912
QOISO EX A (LL=0t2) 2,000 2,000 0
| 1,400
& 120
Al 480
301 Let8EdZ 2,000 2,000 0
| 1,400
o= 120
Al 480
01 AIBIBE B2 (222 TE) 2,000 2,000 0
| 1,400
& 120
Al 480
=04 & 2,000 2,000 0
| 1,400
& 120
Al 480
OLLOISIHEXA (LL=5I2
2,000,000 2,000
J| 1,400
& 120
Al 480
AHALAEFOIF? S (HLAEH292IAS) 2,000 2,000 0
J| 1,000
Al 1,000
308 XSOl 2,000 2,000 0
| 1,000
Al 1,000




=N

WIS 0

mu: OlE HAE =X 01DPl RE(AFZX/ES - ISL0IA
CI9l Of - HAW SXMHIAS ot 25 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
11 SOIZASHUSEAERE AN 2,000 2,000 0
J| 1,000
Al 1,000
=0 A 2,000 2,000 0
J| 1,000
Al 1,000
OFAESHLAAAS] XN 2,000,000& 2,000
J| 1,000
Al 1,000
NEHAEENI P 2L (EAEHENALKS]) 2,800 2,800 0
J| 1,400
Al 1,400
307 2120l 2,800 2,800 0
J| 1,400
Al 1,400
11 AISIEXIAISEX 2,800 2,800 0
J| 1,400
Al 1,400
S0 A 2,800 2,800 0
J| 1,400
Al 1,400
OFAEENHRARS XN 2,800,000& 2,800
J| 1,400
Al 1,400
HAaE HAAX (M2 NY) 60,000 34,000 26,000
= 30,000
& 6,000
Al 24,000
301 LEBN= 60,000 34,000 26,000
= 30,000
== 6,000
Al 24,000
01 AR BB (2DEXMNH) 60,000 34,000 26,000
= 30,000
& 6,000
Al 24,000
S0 A 60,000 34,000 26,000
= 30,000
& 6,000
Al 24,000
OFAE AU A(M2E H)
60,000,000& 60,000
= 30,000
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=N

WIS 0

. Ol HAY =X oZe 2FE(MIEX/ER - IIFLHY
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
Al 1,646
20 & 5,485 4,900 585
J| 3,839
Al 1,646
Oaad s49x3 5,485,000 5,485
J| 3,839
Al 1,646
HAUE MNERIE A 171,216 161,470 9,746
201 dEt2AH| 1,400 840 560
01 AtR2teldl 1,400 840 560
=0 & 1,400 840 560
OCHAISEXEMH 2SS A28 &N
=g 70,000 * 10 »23] 1,400
308 AXIEHMSOIA 167,816 160,630 7,186
11 S| 2SHIUsHE A X2 E ALY 167,816 160,630 7,186
=0 A 167,816 160,630 7,186
OFLEAGAMY X 167,816
fogcikals] 143,056,000 143,056
o2gH| 16,760,000& 16,760
0 AFRHI 8,000,000 8,000
405 RHo&HESHI 2,000 2,000
01 ML 2EFH S| 2,000 2,000
204 & 2,000 2,000
OFLEME=SIHEH HWE D 22
1,000,000 *2CH 2,000
HAEASEL} T2 29 90,640 90,080 560
| 45,320
Al 45,320
308 AtXISHHSO0IN 90,640 90,080 560
J| 45,320
Al 45,320
11 SOI2SH S EAERE A 90,640 90,080 560
J| 45,320
Al 45,320
=04 90,640 90,080 560
J| 45,320
Al 45,320
O&AESE 228 29
90,640,000 90,640
J| 45,320
Al 45,320
HirES0k2 K& 12,500 12,500 0
= 5,000
& 1,500




=N

WIS 0

FE: O)S AW =X QHe PE(AESK/ES - HEU0I)
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
Al 6,000
307 2I2t01A 7,500 12,500 25,000
= 3,000
= 900
Al 3,600
11 AISIZ2XIAIE 2 X 7,500 12,500 25,000
= 3,000
& 00
Al 3,600
=0 A 7,500 12,500 25,000
= 3,000
& 00
Al 3,600
OFLHEESIOIE sot2l X
7,500,000 7,500
= 3,000
& 900
Al 3,600
308 AXIEHHSOIH 5,000 0 5,000
= 2,000
& 600
Al 2,400
11 SOI2SH S EAERE A 5,000 0 5,000
= 2,000
= 600
Al 2,400
204 & 5,000 0 5,000
= 2,000
& 600
Al 2,400
O&EAEdEZ 012 K&
5,000,000 5,000
= 2,000
== 600
Al 2,400
HAEY NS 0HHI0l 29 178,463 174,512 3,951
J| 89,231
& 44,616
Al 44,616
308 AXIEHHSO0IH 178,463 174,512 3,951
J| 89,231
= 44,616
Al 44,616
11 SISO HSHE AN AEAIS ] 178,463 174,512 3,951




=N

PSR 1

S OFg AW 21X olZe} RE(ARIEXN/ES - IIELHY
o Ots - 348 =SXMEIAL J|et &= (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
J| 89,231
= 44,616
Al 44,616
20 & 178,463 174,512 3,951
J| 89,231
& 44,616
Al 44,616
OFAEY NS00l 29
178,463,000 178,463
J| 89,231
== 44,616
Al 44,616
HAEY NS00 29X 49,930 40,000 9,980
308 AHXISHMSOIN 40,000 40,000 0
11 S| 2S0ICHsHE & X2 E ALY 40,000 40,000 0
S0 &t 40,000 40,000 0
OFEAEHYWS0PIEIOl RH2FL XY
40,000,000 40,000
405 RHaHESHI 9,980 9,980
01 AL SEFSHI 9,980 9,980
20 & 9,980 9,980
OFEAFYWUZOHH0l 224 &I 2 9,980
0 2kt 2,730,000& 2,730
o 24t 5,250,000 5,250
o &t 2,000,000 2,000
HFLUEESEY XI2ZH 4,800 4,300 500
201 LEt2Ad| 3,000 2,500 500
01 AtR22teltl 3,000 2,500 500
S0 &t 3,000 2,500 500
Oge23| 1,000,000& 1,000
OFLHEE Rz 2,000,000 2,000
202 04| 1,800 1,800
01 2] 1,800 1,800
=0 A 1,800 1,800
OFL2HESEX H2FA SO
1,800,000& 1,800
HAEA LSS (MEAIY) 672,000 0 672,000
== 577,920
Al 94,080
401 AIEHIZL S0 672,000 0 672,000
& 577,920
Al 94,080
01 AlI&HI 650,000 0 650,000
== 559,000




EA: DISAS
HM: Ol 2AYE =X 2Tt RE(AS=Z2X/BES - IISLHY
SISl OF - MAW SXMHIAS Jig 8= (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 91,000
=0l A 650,000 0 650,000
== 559,000
Al 91,000
OFAUELHZ JsEY 650,000,000& 650,000
& 559,000
Al 91,000
02 Zeld] 22,000 0 22,000
& 18,920
Al 3,080
S0 A 22,000 0 22,000
< 18,920
Al 3,080
OBAEAHE J|S2Y 2280
22,000,000& 22,000
== 18,920
Al 3,080
HAEOHM G 105,622 104,170 1,452
J| 52,811
Al 52,811
308 AXIHHSOIA 105,622 104,170 1,452
J| 52,811
Al 52,811
11 2|2 SHUSHE AR AEAIZHI 105,622 104,170 1,452
J| 52,811
Al 52,811
=0 A 105,622 104,170 1,452
J| 52,811
Al 52,811
OFAEHOIN B 105,622,000& 105,622
J| 52,811
Al 52,811
HAENSEOIE X2 24,000 24,000 0
= 9,600
& 2,830
Al 11,520
307 2120l 24,000 24,000 0
= 9,600
== 2,830
Al 11,520
11 AISIEXAIREX 24,000 24,000 0
= 9,600
o= 2,880




=N

WIS 0

M. 0l HAE =X 2Ze F(AMSSX/ES - IIFLH L
o Ots - 348 =SXMEIAL J|et &= (Gt &
H
S - B S9(3H) - NSAY - BES S SR HDS2
Al 11,520
201 & 24,000 24,000 0
= 9,600
& 2,880
Al 11,520
OFLENSE0Y 2Z XA
24,000,000 24,000
= 9,600
= 2,880
Al 11,520
FarERofSZZAIS XA 3,143 2,750 393
= 1,572
& 314
Al 1,257
307 QIZ2tol ™ 3,143 2,750 393
= 1,572
& 314
Al 1,257
11 Al =SXAEES 3,143 2,750 393
= 1,572
& 314
Al 1,257
20i & 3,143 2,750 393
= 1,572
& 314
Al 1,257
OHALERMZZAIE XA
3,143,000& 3,143
= 1,572
& 314
Al 1,257
HAEXIEZ AP BIXI X2 52,368 51,048 1,320
J| 26,184
Al 26,184
307 QIZ2+0| ™ 25,200 51,048 N25,848
J| 12,600
Al 12,600
05 2IZIRIELZ 25,200 0 25,200
J| 12,600
Al 12,600
S0j &t 25,200 0 25,200
J| 12,600
Al 12,600




=N

WIS 0

mu: OlE HAE =X 01DPl RE(AFZX/ES - ISL0IA
CI9l Of - HAW SXMHIAS ot 25 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
OFAEIFIOIE HAEXIEAF Q124H]
| & 25,200,000& 25,200
J| 12,600
Al 12,600
308 AHXISHHISO0IA 27,168 0 27,168
J| 13,584
Al 13,584
11 ZBI|2SOHHSEAEAE A 27,168 0 27,168
J| 13,584
Al 13,584
=0 A 27,168 0 27,168
J| 13,584
Al 13,584
OFAELHAZ HAEXIEAF 2124H] K&
27,168,000 27,168
J| 13,584
Al 13,584
st g HAauE X 137,203 135,616 1,587
J| 96,042
Al 41,161
308 AXIHAHSOIA 137,203 135,616 1,587
J| 96,042
Al 41,161
11 2|2 SHUSHE AR AEAIZHI 137,203 135,616 1,587
J| 96,042
Al 41,161
=0 A 137,203 135,616 1,587
J| 6,042
Al 41,161
Ostn & HA44 X3 137,203,000& 137,203
J| 96,042
Al 41,161
st g HAE XIK(SAH]) 10,000 10,000 0
J| 5,000
Al 5,000
308 AHXISHHISO0IA 10,000 10,000 0
J| 5,000
Al 5,000
11 I 2SS EAEAE A 10,000 10,000 0
J| 5,000
Al 5,000
=0 A 10,000 10,000 0
J| 5,000
Al 5,000




=N

WIS 0

M. 0l HAE =X 2Ze F(AMSSX/ES - IIFLH L
o2l Ols - 3aE SXAHIAL D8t &5 (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Ostl & FaE X (S4H])
10,000,000& 10,000
J| 5,000
Al 5,000
st g HAE TP K& 18,000 32,400 A 14,400
& 7,200
Al 10,800
301 LetEEZ 18,000 0 18,000
== 7,200
Al 10,800
03 A2 &= 452 (XITH) 18,000 0 18,000
& 7,200
Al 10,800
=0 A 18,000 0 18,000
& 7,200
Al 10,800
Osta 5 #449 R XA
18,000,000& 18,000
& 7,200
Al 10,800
M= E-37Y Ots=24 A& 369,600 422,695 AB3,005
301 Let8EZ 369,600 422,695 53,005
03 AMtS|BE 62 (XILTHA) 369,600 0 369,600
201 & 369,600 0 369,600
OoshlEs E35Y Ots=4dl XI&
8,000& 440 95 334,400
O&ls Y ots=4Hl X
8,000& x44%H 100 35,200
1318MICHE &HIcte EAE HA Ot ZAHE 15,000 15,000 0
307 2I2t0|A 15,000 15,000 0
04 QIZIHAAIZ 2 X 15,000 15,000 0
=0i & 15,000 15,000 0
O&LH 23 &= X2(1318 HAHE Hial
e dotisl) 15,000,000 15,000
HY2ISZHI(REIEEXA) (IIEHIIEH 443,272 432,873 10,399
= 52,160
s 146,834
& 44,102
Al 200, 126
Jl2&l 30,384 21,800 8,584
Jl=2Z&| 30,384 21,800 8,584
201 LEr23d| 22,464 14,000 8,464
01 AtR2teltl 22,464 14,000 8,464
20l & 22,464 28,000 5,536
ORM2G AtR22t2|d] 14,000,000& 14,000




S

=

4 0t
(WSIOHEEXIA) (OIEH/JIEH

[0

A

[=]

0% EJ

M 0 Ho

0¥ Ho &

o9 )
[==

[
"
P
o

K- B8 S2l(30) - HRAR - BaS

Ol &K
EEL)

SIELU IR

(1ZH)

Bl

Ol
0¥

| =H=201

22,464

14,000

8,464

202 Ol 3,000 3,000

01 SUHAbI 3,000 3,000
=0l & 3,000 3,000
ORAM2g =AY 3,000,000& 3,000

r

I
H0

QR
10
4
[pal
o

4,920 4,800 120

4,920 4,800 120
4,920 4,800 120
410,000 * 123 4,920

m &
I
>
Mo
02
Q=
40
I
™
[==

2
[P

O
I
X
Mo
02
i}
10
I
pa}
=

re
Ju
H0
02
=

412,888 411,073 1,815
52,160
146,884
44,102
169,742

o W

=

n

u
>
m
Im
o
o
>
in
[l
o
o
ry
==

97,800 96,000 1,800
78,240
5,868
13,692

o

=

101 @1 24d| 85,508 83,839 1,669
68,403
5,133
11,972

hoA

=

SA(RI1H2) 22X 85,508 83,839 1,669
68,403
5,133
11,972
=0l & 85,508 83,839 1,669
68,403
5,133
11,972
O=2H 1,930,5262 «3H * 122 69,499
55,597
4,174
9,728
140,000 +3ZF+ 123 5,040
4,032

303

705
121,000 x3F* 15 5,445
4,356

326
Al 763
odz2+< 920,666 *3& *23 5,524

P

3
0

= 0N [ = N

o

=

@)
0
12
ty
Iz
==

= m 3

Mo




M DRI
A HYHSAAH|(WKIESXS ) (JIEHDIIE
ciel: olte ) (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
g 4,418
o= 330
Al 776
4 HA2SRE2S 12,292 12,161 131
g 9,837
o= 735
Al 1,720
M BRA(RINHY)Z2 2N BEE28E=2 S 12,292 2,917 9,375
g 9,837
& 735
Al 1,720
=01 A 12,292 2,917 9,375
g 9,837
o= 735
Al 1,720
O=0132 110,000, 000& *4 . 5% 4,950
g 3,960
o= 297
Al 693
(@Fakgsk=: 110,000, 000& *3.495% 3,845
g 3,077
& 230
Al 538
O&IRABH 3,844, 500&+12.27% 472
g 378
o= 28
Al 66
ONESLMEE 110,000, 000& *2.75% 3,025
g 2,422
== 180
Al 423
CZIAEIE SgrAtdZel(124d]) (KRS 41,602 40,552 1,050
101 el4H| 41,602 40,552 1,050
03 22 (RIHL) 2224 41,602 40,552 1,050
=20 A 41,602 40,552 1,050
OS2 AEIE SSTAMHIZEIAF QIAHHI (KT
SESSIY) 41,602
o JIExE 40,000& x3H x 12& 1,440
o WEEXH| 60,000 x3H 12 2,160
o HEFIHHI 1,379,081 & x3H x23| 8,275
o AIZIRZ2R24E
181,500& *3H * 15A[ 2+ 8,168
o&AHAHSH 120,000& x3H *12& 4,320
o M & CtedH| 574,6182*x3H 10 17,239




M DRI
HzH: H2AAH|(WSIIEXI ) (D1EHIIE
ciel: olte ) (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
OISESHERR X 65,200 63,800 1,400
= 52,160
& 3,912
Al 9,128
101 21| 65,200 63,800 1,400
= 52,160
== 3,912
Al 9,128
03 2L (I|H L) 222 65,200 63,800 1,400
= 52,160
& 3,912
Al 9,128
S0 A 65,200 63,800 1,400
= 52,160
& 3,912
Al 9,128
(OPIE==] 1,913,500 x2H « 12& 45,924
= 36,739
== 2,755
Al 6,430
OIE4xE 40,0002 x2S x12& 960
= 769
o= 58
Al 133
OusE2 x| 60,000 x2H12& 1,440
= 1,152
& 87
Al 201
OYEFIH| 1,344,000 x2H *x23| 5,376
= 4,300
== 323
Al 753
OAlIZte 224 2,630,000& *x2H 5,260
= 4,208
= 316
Al 736
O &AL 120,000& x2H « 12& 2,880
= 2,304
& 171
Al 405
OFMZAH| 140,000 x2H % 12& 3,360
= 2,688
== 202




M DRI
A HYHSAAH|(WKIESXS ) (JIEHDIIE
ciel: olte ) (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
| | A 270
OS2SR XK (QIAH]) (RHMZI) 24,876 32,732 N7,856
101 21| 16,494 24,411 NT,917
03 22X (2I|H )22 X2 16,494 24,411 NT,917
=0 A 16,494 24,411 NT,917
(@)SPNR A== ES=, 1,169,000& +2H 2,338
(@FSFeEt= 739,250 22 +23| 2,957
OMZECredy| 559,950 x2H % 103] 11,199
M HASEE=S 8,382 8,321 61
M Z2L2X(2I|HY)22X 282242 = 8,382 1,996 6,386
=01l A 8,382 1,996 6,386
O=01Z228= 75,000,000& *4 . 5% 3,375
O=201AH2AUABH 75,000,000 *3.495% 2,622
O AEH 2,622 ,000&4%12.27% 322
OIS MEE 75,000,000 *2.75% 2,063
Ol==2XI WAL IHA X (1HH]) 137,288 133,407 3,831
rag 68,644
< 34,322
Al 34,322
101 @1248] 117,584 117,159 425
rag 58,792
== 29,396
Al 29,396
03 2R (RI|HA) 222+ 117,584 117,159 425
= 58,792
& 29,396
Al 29,396
=0 A 117,584 117,159 425
g 58,792
== 29,396
Al 29,396
ooleE2 1,633, 106&+6H~12& 117,584
g 58,792
== 29,396
Al 29,396
M AZEE=S 19,704 16,248 3,456
g 9,852
& 4,926
Al 4,926
M Z22X(LIN|H) 22X} BEHEEHZ2 = 19,704 3,897 15,807
g 9,852
< 4,926
Al 4,926




EA: DISAS
A HYHSAAH|(WKIESXS ) (JIEHDIIE
chel: oleie | LR
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 19,704 3,897 15,807
rag 9,852
& 4,926
Al 4,926
O=0132 176,313,640& %4 . 5% 7,935
g 3,97
& 1,984
Al 1,984
(@Fabgsk= 176,313 ,640& *3.495% 6,163
g 3,081
< 1,541
Al 1,541
O RASH 6,162,162 x12.27% 757
rag 379
& 189
Al 189
ONSMMEE 176,313,640 %2.75% 4,849
g 2,425
& 1,212
Al 1,212
OtsS=S X WAF IFA XIS (QIAH]) (KM 46,122 44,582 1,540
101 21| 46,122 44 582 1,540
03 2L (2I|H )22 A2 = 46,122 44,582 1,540
=0 A 46,122 44 582 1,540
O0t=E X WAL Q1A (KFHMIZ=DH 46,122
o JIExY 40,0002 x6Z *x 12& 2,830
o WEEAH| 37,5002 x6H x123] 2,700
o YESIHI 758,550 62 *23| 9,103
o Mg EHATE 56,250 x6H x 122 4,050
oY XREHIITE 61,5002 x6H x 15 5,535
o HHZ A 87,5002 x6H x123| 6,300
odZ2x¢ 347,910 x6H *x23| 4,175
o M & CtedH| 189,650 x6H x 10 11,379
MELES(WRIEXS D) (AIRIEX/FAHESXH) 130,000 25,000 105,000
= DNES 130,000 25,000 105,000
OHSFEISHD |2 22| 130,000 25,000 105,000
02 JI28=E2 130,000 25,000 105,000
NIErSE= 130,000 25,000 105,000
S0 A 130,000 25,000 105,000
Olgded |2 M= 100,000,000 100,000
O0fErae) |2 MEZ2(AMSDEZAIZH])
30,000,000& 30,000




